Economics – Questions 5

 

1. Up to how long is the short run in the following cases?

a. a mobile disco firm. (Answer – a few weeks) 
b. Electricity power generation. (Answer – a few years) 
c. A small grocery retailing business (Answer – a few months) 
d. "Superstore Hypermarkets plc" (Answer – 1 or 2 years)

 

2. Given that there is a fixed supply of land in the world what implications can you draw from the law of diminishing returns about the effects of an increase in world population for food output per head?

(Answer) It would imply that it would eventually become progressively more costly to provide additional food output. However this has happened yet implying that diminishing returns does not yet apply. Also improving technology can delay the onset of diminishing returns.

3. The following are some costs incurred by a shoe manufacturer. Decide whether each one is a fixed cost or a variable cost or has some element of both.

a. the cost of leather (Answer – variable) 
b. the fee paid by an advertising agency (Answer – perhaps some element of both) 
c. wear and tear on machinery (Answer – fixed) 
d. Business rates on the factory (Answer – fixed) 
e. Electricity for heating and lighting (Answer – variable) 
f. Electricity for running the machines (Answer – fixed) 

g. A basic minimum wage agreed by the union (Answer – an element of both) 
h. Overtime pay (Answer – variable) 
i. Depreciation of machines as a result purely of their age (irrespective of their condition) (Answer – fixed).

 

4. What economies of scale is a large department store likely to experience?

(Answer) marketing (bulk buying), financial and possibly managerial

 

5. Why are so many firms likely to experience economies of scale up a certain size and then diseconomies of scale after some point beyond that?

 

(Answer) Opportunities for further economies cease; also managerial diseconomies (e.g. administrative inefficiency may set in)

6. A firm will continue producing in the short run even if it is making a loss, provided it can cover its variable costs. Explain why. Just how long will it be willing to continue making such a loss?

(Answer) If a firm stays in business it must meet its fixed costs anyway. Therefore along as sales cover variable costs some contribution can be made to fixed costs. There must be some hope of reasonable profits in the future. Sustaining short-term losses can depend on a firms inetrnal resources to survive. 

 

 

7. The price of pocket calculators and digital watches fell significantly in the years after they were first introduced, even though demand for them was increasing substantially.

Explain - using diagrams - why this was the case.

(Answer) If demand increases it will normally increase price; however if the supply increases even faster than demand, then the price will fall. This in fact happened. Substantial economies of scale became possible as production increased thereby stimulating further supply.

